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their steps measure 40 cm, 42 cm and 45 cm IS BT # WY AW 40 AW, 42 TR IR

respectively. What is the minimum distance 45 ¥t ¥ v® ®) e fraht g au woh
each should walk so that each can cover the 'ﬂ!m!ﬂ'ﬂﬂlmtﬂﬂﬁwi

same distance in complete steps ? AYABTES?
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b) 50 m40 cm b) 50m 40 om
) 75m60ocm ) 75m60om

d) 100 m 80 cm d) 100 m 80 cm
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52. Joseph visits the club on every Sth day, 52. WRw yaw s R wve ara 3, odf vdw
Harsh visits on every 24th day, while Sumit 248 =1 wera wnan ; waf gftva e o R
visits on every 9th day. If all three of them e #1 of} @ H=1 AR o) s 4 A, @1 2
met at the club on a Sunday, then on which Mgahaﬁaﬁ!ﬁr

day will all three of them meet again ?
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57. What is the smallest number greater than 1000 57. 1000 # ¥} 2y wa@t 918! wan 't @ § Rt 6,
that when divided by any one of the numbers 6, 9, 9, 12, 15, 18 # & &3} Wit wran | RvfSa s W
12, 15, 18 leaves a remainder of 32 UPSC PT 2022 3 Wwwwai®?
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c) 420
d) 430
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